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Zo4 EMH OfURIHEPTM): HAE HS 753
El= AFE 75, ZEE0} 2lo] Abo| £3 HES 93

) o-FES CIR 22X

EuADM 85t 5O Z2{X| EMADM (PDK)
7| 0j|

1t 5,97

2CH 3,24

3E&H 2,08

Act 1,42

5CH 1,05

6Ch 0,84

7EH 0,68

8ch 0,53

= 5,22

Xt H|-2 (FA/RA) 3.31/3.15
M Al
MAT T} 4 3 HH{ Of0f AT T m24 YE|Z HAHM
Oj L| X| 21 = (PASM) 7} 8181 Of4E|S 0fof AT A
ZEE oz U205 HE AR MAHN, 52 8 HAHNM
20f Az AHC) M2 T T 2 20)s HE|Y
NAHN, 5 8 AN
NEE M} 7|74] 019 AE|01Z), 84 2/0f AL AE|0jZY
AE|0{2H| 155:1 (ME ZX|M) 7HX] 9.3:1;
14.2:1 (ME ZX|M) 7}X] 9.3:1 SIX}= AE|0{E

AE|0{E & 3™ 375 mm
AE|0{2 & XA 119 m: 2/0f & AE|0{2 Al (HAL) 11.4 m
9 oY A|AH T2 AEf2/E| OjLIX|HEPSM) 23l ABS

By0|13 7| =&
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L2t 4S C|& AZX EZ|AR
CELE!]
Bo]3 AMAH 6 IAE YR0[E B 58 n7¥-Ae|m MEH 0|2
4 TAE Q205 222 Y- Ha|H S0 o3
Hyo|3 C|A3, =EE S 8|4, HIE|C C|A3 280|3
x4 390 mm
= 38 mm
Bgoj]a C|A3, 2| AS o|FH, HE|E C|A3 Hef|o|=
=4 365 mm
= 28 mm
g & Eo|of
ZE2EZ% 9 E}lo|¢ 9 Jx 19 ET 64, 265/45 ZR 19 E}0| 0§
2|0] & A Eo]of 105 Jx 19 ET 62, 295/40 ZR 19 E}O|Of
x|
HE 5,049 mm
HMEZAloj=0jz| =g 1,937 mm (2,165 mm)
HMn 1,428 mm
ol A 2,950 mm
27, TEE 1671 mm
g7, 2|0 1651 mm
Nx g 5
ShUE=E 520-1,390 |
3 X =2KDIN) 2095 kg
Zlsl 518 5T 2785 kg
Ed Y stE(Eo|aEAE/ 2200/750 kg
Hio|3 o|&E#
23 5= 100 kg
X|& 5t5 ( Z24| DTS) 75 kg
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5.9-5.81/100 km

8 M5
ZE e 282 km/h
7t
0-60 mph 4.3 %X
AKX EZA DE: 41 =
0-60 mph
0-100 km/h 45 %
AZX ZgA QE: 43 %
0-100 km/h
0-160 km/h 10.8 =
ATX ZEGA BE: 105 =
0-160 km/h
0-200 km/h 173 =
AEX ZEQA BE: 170 =
0-200 km/h
Az 9 HEIIA
HiE 7|&E 226
te Ef C| &
|
i 7.9 1/100 km
e
=3

6.8-6.7 1/100 km

CO, Hi=

=235t 178-176 g/km
28 52 (5Y) 8
B 75 2|Ef (90 2|E)

of| o{ 2C}ofLt4]

AT cq 0,30
TIHEHH A 2.39 m2
¢y XA 0,717




